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A the following question : (1%10= 10 Marks)

5) From the following dala obtain correlation coefficient and predict the value of Y
when X=25.

x |15 J20 |10 fos [30 20 |30 |40

Y | 100 | 150 |90 |80 (40 J90 |30 |70
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House Rent allowance — Rs.4,500 PM. (He pays a rent of Rs.3.500 p.m. for his

houge In Mumbai)

Entertainment allowance - Rs.600 P-M. {He spant 80% of il for official purposes)
Childran‘s education allowance ~ R$-300p.m. (his san is studying in the university)
Hostel allowance — Rs.500 p.m. (his 80N resides in Ihe university hostel)
He paid Rs.300 p.m, employment {ax.
He contribuled Rs 56 400 to RPF and the company contributed Rs.54,400 for the
same, The Interest credited at 12% p.a. on (he accumulaled balance Rs.3,40,000,
He paid Rs.2,000 as a life insurance premium during the PY,
Compute his texable income from salary for the AY 2024-25,

7)Mr. Deepak s he proprietor of a businass. His Profit and Loss Account for the year

ended 31-3-2024 is as follows:

Rs, H J Rs.
[To opening stock 20,000 rpy sakes |§3.42,400
To purchases I\l ,02,55% closing stock 18,000
i g |
To rent, rates and faxes l |Ey interost on tex-fres GO b g0
onds
By divi N
To general expenses 1, 750 y dividend from & foreign 3,000
company
To household expenses (730 ty it on Kemalaka 2,400
ovi. loan
To establishment expenses 1.500 hy interest on FD In SBI 18,000
To customs duty paid a5 [P dividend from Reliance 4,
Company
from hol
To provielon for bed debts haoo [oF " use 1,06,400
propery
[To postage and telegrams R70 By discount recelved 050
To law charges 150 By commisslon recelved  |150
iTo adveriising 1.550 HBy income tax refund 1,000
To gifts W employees 150
To fire insurance for goods 1360
ITo audit fees oo
ITo salaries 3,000
N P "
'To repair {not for busingss -
premises)
le of ed for
To loss on sale of car {used fol .80
privale purpose) o
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